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Dividing by 10s with Decimals

Round to 2 decimal places when necessary.

1.86.5+40 =

2.95.3+70+= Tip

3.483+40=____  Example: 66.5 + 60

4 976 +80-= Step 1: Divide by 10
5 936 =5 = Step 2: Divide by 6
Step 3: Round to 2 d.p.

6.66.4 =6 =
7.988+7 =
8.5.27+9=
9.66.8+7-=

10.87.5+ 8=
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Jambe  Answers

Dividing by 10s with Decimals

Round to 2 decimal places when necessary.

1.865+40=217
2.95.3+70=137
3.483 -40=1.21
4.976-80=122

b.93.6+5=18.72

6.66.4+6=11.07

7.98.8+7=1411
8.5.27+9=0.59
9.668+7=954

10.87.5 + 8 = 10.94
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